(Min) Z = 18X + 10Y
4X + 6Y >48
12X + 10Y >120
10X + 15Y <150
X,Y =0

(Max) Z = 6X + 8Y
30X + 20Y <300
5X + 10Y <110

4X-Y =0
X=0
X,Y =0

(Min) Z = 6X + 4Y
X >10
Y >12
X >0
Y >0

(Max) Z = 50X; + 80X,
2X; + 2X, <100
4X; <400
8 X, <320
40X; + 20X, <1600
X1+ X; <30
X,Y20

(MaX)Z: 44X, + 3X,
2+ 3K, <6
X +2X, <3

2X, <5
2K+ X, < 4
X1, X, 20

(Min) Z = 10X; + 12X,
5X; + 6X, <60
8X, + 4X, < 72
3X; + 5%, < 45

X1, X; >0

(MaX) Z=5X;+ 8X2
6X, +4X, <24
Xo+2X, <18
3X; +9X, < 36

X1, X, 20

(Max)Z:5X1+5’X2
X1+ X <6
X1 <3
X <3
2+ 3K, > 3
X1, %X, 20




(Min)Z:6X1-2X2 (Min)Z=5X1+2X2

X1+ X, <17 X1+ X, <10
3IXi=-X, 56 Xy =35
X120 X120

X220 ><220

(Max) Z = 2X; + 3%,
3X; + 2X, <18

X+ 3K, <9
X1, X, 20
(Min) Z =6 X; + 3X,+ 5X3 (Max) Z = 24X, + 30X,
6X; +3X,+ X322 4X, + 6X, <240
3X; +4X,+ X3 <5 8X; + 4X, <240
Xy =20 2X; + 3X, <150
X, =0 X;=> 0
XS 20 X2 20
( )
1000 "Granito-lux"
06«07 05 M;, M,, M
M, 130 M, 300
M; 200
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